(TG FHCEE (I AT 05

_ {C) 7§ ‘;{:
(D) SO X
/"‘:‘
g gl (2 A% mrareay
- % - " *

(A "’J Rl
(1) =5 o
‘(-l rj-&:‘"ﬂl; I';"t'a-.':

(D) efmam (A=

3, cm oy wul e’ Befn e wrafuree
(A) w™oY
(B) =6 pEad
() feim v
(D) ¥FEeY

4. 'aged ez =fedrel = frmme
(A) 1—7‘*1- confass
(B) ¥ ¥m 7
(€) '-'-fs‘a;ﬁ

(D) e g

..-15?5'?:1“%“?*1&7‘1’31 <z R Rex

" ( i -
m’ similarity) g | @mida wpg AT (similarity)

(A) #traw ¢

(B) ary (Copper)
(€ 1 (Zinc)
) @121 (1ron)

Mercun'j .

RB/LCMV20 I8

1. p:ﬁ! =% | - e
el e + Q¥ 5 ufrws yoes
(A) 2 -
(B) 20
(C) 787
(D) &0z

TJ

3. T3 7F wuA ettt amfa e fue)
(A) ==
(B) =wm =0y
(C) fim T
(D) &g

. 'mE AT m o
(A) #"Jﬁﬂ
(B) 773 3=
(C) Lr:-g“l
(D) wus 3o

lsimilnn‘lp?l?ﬁﬁ?‘: B'T??:t‘ﬂfmmmi!mt}ﬁ‘ﬁ’
(A) 9= (Mercury)
(B) 1 (Copper)
(C) F#1 (Zinc)
(D) #E (Iron)
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(I INSS () I8SS
9. s o (o Wl e O, MY MY SR L S saee?
= R [ e JEr== == e [ — (e |
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10, Weamre
[IRL 2y
LAY 3
(B) 4
(1
(m 2

T TR @ @ et el o

[ R G el mew (i wiha afeyx at
el ot (e Vey wfeun ook Mn cew )
FENEHTAQ N2 S AW ONT 6 |0 0D W TR
(destination) CTE | G 4l sferans (speed) Seaine
(ratio) TE

:
(A) 3:5 o 1¢
(B) 4:5 ’
(Cy 3:4

(D) 4:3

12, @ el TrRm 4R TR SR I A
4G W HEE TS TN 433 698 SR YR T A |
s @ e FE e T

(A) 6
(B) 8
(C) 1
(D) 4

13. fex =wwm F@s (World Organ Donation Day)
G e s a2
(A) 2nd October
(B) 7th July
(C) 13th August
(D) 5th September

W, Fesa ffasfice g ad (alphaber) &2
SRIEERI B .w&ﬁwﬁﬁﬁfﬂﬂmmﬂmr
OSbelYca Lahca
(A) bach IA
(B) abbcb
(C) abebb
(D) bbbee

10, M) o o @ata v e gt ady wm
g’
B
o
Wl
(m 2

1L e den, WA eam we o) uf @ e
g gam afe ko asen da ge ned g e e
WA O MU T Lo MY S BIAR B Gdestinatiei)
g3 Xerh) MR (apecd) ST (ratun) L R

(A) V: 8
TN
(> d:4d
(D 4: 3

12, S TS M S 1 A SR e 240" W
VI T 008 W R Rad e ) s
HEme uI?

(A G
(B 8
1
(D 4

13, fawa sty 2m feas (World Organ Donation Day)
wfeel wAEa?

(A 2nd October
(B) 7th July

(€)1 3th August
(D) Sth September

M. frafafas fafonn 3@ ad (alphabet 03
avies 71 fof frer w2 ! i
—be_ca__cab _u__ca
(A) bacbha
(B) abbcb
(C) abebb
(D) bbbee
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‘ 3
15, 9wt 208 (square) 3 W@ 375 1

Tt
(A) 35 \_’;,‘1“ 53'
(B) 45 - "
(©€) 15 &P &
() 25
16. WS wfn awe) oo s

(A) (Tex 75
(B) T5ea wziefg
(C) comenmai

(D) ==ia

17. RN EEGE (principal umount) 2 9804 LERE U

(simple interest) € 5347 %% (compound interest) T
(respectively) 8,400 Bret @ 8,652 Brel | %098 09 (rate of

»° interest) #E ¢
(A) 3%
(B) 8%
(C) 4%
(D) 6%

7 1»,(:"

18. firsa cem fEBifm® (Vitamin) &1 ¥39%
(soluble) 75 ¢
(A) C
(B) P
(C) K
(D) B

, 19 %% 51 A 320 B (=% wraa vifdifae sl
0% 250 Diel (7F wrae SBiE 51 91 SIS (ratio) Fifim
=fe (afz 324 B vz fafer T2t e 20% =78 (gain)
2[4

(A) 2:5

(B) 3:7

() 2:3

(D) 1:4

(6)

3 "
3 g 375 e tiey
I5. mﬁmaﬁwiuquumﬂﬁ § .

Ffd |7
(A) 35 =
() 45
(C) 15
(D) 25

(A) T T8
(B) = wemYy
(C) T

(D) W

17 ?fﬁ'q@ uﬁqpﬁncipulamllunl)ﬁﬂ"iﬁmm
(simple interest) a1 fafsa =@t (compound interest)
§.400 T T 8,652 ¥ FHAL: {rcspccli\'cl}'} U, HEF AT

(rate of interest) #fa §27
(A) 3%
(B) 8%
(C) 4%
(D) 6%

18. o1 feuw &= fwafaa (Vitamin) 9
wie (soluble) w32

(A) C

(B) P

(C) K

(D) B

19. w32 91 fagare, . 320 fareh w3 grsitfem 9™
#7250 @_m ST =19 Fifd AT (ratio) foramz
WEE do WMo T 324 fFel ®1 T faw ™, wEw
TN (gain) 20% §=27

(A) 2:5

(B) 3:7

):2:3

(D) 1:4
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20. wragea Tel Af@r42 (Quality Council of India)
e SR I ARG (et o fugrey
(cleanest) (FHADHAAS S o

(A) A

(B) cnysfa

(C) ¥™ivfa B
(D) & fifyy

21 s vl § it 41 i wapafie o

33 4 U forg e W8 Ay iz
359545.535845_673_5_7_;54_3:!.3:,1 0
(A) 4
(B) 3
(C) 5
(D) 6

22. AT I B A
January : November - Sunday : ?
(A) Thursday
(B) Friday
(C) Monday
(D) Wednesday

23. Sipa cam m(mm)mmmr
(A) #brfrars
(B) TS (Mercury)
(C) cifeurs
(D) =rferrm

2. FEraifefm (Leucopenia) 7o 2379

(A) Red Blood Corpuscles-7 = Arefarey
C0 =71 (o ‘ .

(B) Red Biood Corpuscles-7 s Aelfareg
o c—m P = =] $

(C) White Blood Co usc) wrelfareg
es-9 F:
W 20 orm ¥ — |

(D) Whige Blood Cg
uscles-3 x2
{. " rpuscles R Freifarasg

(7) RUB/LCM)2018
20. MITR I 90z A (Quality Council of India)
et sitenn Tl ae T (cleanest) 181 1251 4 fumin?
(A) ¥y
(B) v
(©) wEmyR .
(D) f3 feeeit

o

23, el feu=y

24,

21, e HENEE I a5 o e faw A 3 A

49 mfews faeii s o 392
3J5954553584567357554523510

(A) 4
(B) 3
(C) 5
(D) 6

22, w7 famem & g

January : November :: Sunday : ?
(A) Thursday
(B) Friday
(C) Monday
(D) Wednesday

T M1 (metal) 1 9919 9t =21 wea
(A) Sreafagy

(B) R (Mercury)
(C) wifzgy
(D) Fefagyg

e (Leucopenia) Feet g2

(A) Red Bloog Corpuscles %1 =arfas
HE
W1y

(B) Red Blood Comys 7
uscles F
= Hem i

(C) Whie Blood Cg

ik fpuscles i Ty Evrfas
(D) White Blood Cq 3 H
s . fPuscles &y e s
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RB/LC(M)/2018 (8)
25, T wAfFel fi Afe F TR AR A 0wy

e Bl T BT ©f 4T
25, 9% e femaim vl ol S0 prEaIeT € +r oy e 1 T 7% (income) Re. 1,000 W, 7

g | &1 1B WAl (income) 1,000 B 74, Aifa

2ol
AGTIA SAf 4y o i Hfd 93§D
o (A) Rs. 6,000
(A) 6,000 DI 5 \0 (B) Rs. 4.000
‘ (B) 4.000 Bf (C) Rs. 2,000
]
(C) 2,000 Bl (D) Rs. 3,000
| (D) 3,000 Gt
\
| 26. SR G712 @oied (Solar system) FABLA (2I0! 26, dr-vEa (Solar system) F1 T W=l T TE
3% (Planct) &G ¢ (Planct) % €17
(A) T (Mars) (A} T Marm)

(B) ¥ (Saturn)
(B) *f (Saturn) (C) 34 (Mercury)

(C) 3% (Mercury) (D) ¥ (Venus)
(D) ©F (Venus)

27. (A% oo kT’ @m SR &2 27, g i ' fafes' g7 v a2
(A) #ifF (A) wif@
(B) Turail
(B) A <
(C) wIfa= P
(D) FiFT

28, @b sifFRmEa 7 A 6 9 TR T P, Q, R, 28. T3 yfEr= 9o Hem 6 1 fafes fudi p, Q, R.
X, Y 9% Z | P €3 R faifze 7 (married couple) | | X, YTZ | P IR fEfed (married couple), Q, R #1 31
Q.R-25 9@ @R, Q-2 971 Y,R-93 SR I X, P-ga %l | ol ®R, Q F &1 €17, Y, R 31 92 | X. P & 911 &
O Z, P-4 ©1% 207, €2 AR Fesa ) WiEae TZ, P& 4§ U= viEm Ff s wee A e

(A) 4 (A) 4
(B) Sl (Can'tbe determined) 7/ (B) #ifTofa (Can't be determined)
v

o s 9?; L (© 2
A (D) 3
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]
-

(A 030
(BY 630
() 30
(D) 560

9‘99§x‘)‘9
99
(A) Y8999
(B) 98901
(C) 97902
(DY 99995

(A) 5

(B) 87
(C) 67
(D) 4 -

39, % (U R ANz Wl 205 40y
sz (docreasd) SR D Rl 200 qfh aar
(inereass) AT W 1 D Ko vy

.
‘\.- L
Fi g", J'\ ]
ob q_:\‘.

4 <

+

30. TR (value) ¥ 3

LD

N : \.u‘{
A Y LJ
N A

4:}‘1
L IB\y
A ok
2 P "
(el 5..]4\\' g

o G'l-‘/" “/ ﬂ
- C\\ S - f"\
31 1234-£2 T B (oW W AR Ao 9 94l

foes (divisible) 27

e
5)5 \};5“‘ Qn)
55
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27
/t(\

O

32, Smva @m wfal oo, offm ¢ obemfaa Hed
farte @ra?

(v

R/

20, 4% HEEE) e oo el e

(A) 650
(1 630
() 500
(D) 560

30, HEETEA (value):

9992 <99
99

(A) 98999

(B) 98901

(C) 97902

(D) 99998

(divisible) T27?
(A) S
(B) 8
) 6
(D) 4

(lectease) Al e deaend 200 @ (0
w2

3. 1234 W =fEen uiE T HA

32, 7= fewm =R e, W, 1



-'-"'_._-‘

:L,’s

- \ ]
\m"ﬁ' T
— fr"\“
X
. 4 AT AAS (L.CM) 1050 G AHL,
"“_ ) 35, <20 WA 210 277 oaf ¥ A
|

(A) 173 ":;g _’"};}

(B) 440 @/
©) 50— 9":\ K
(D) 735 K

2\
38, (IR I 1209 201 89 afetums oy Wi 2me g
(A) TUEHEYR @ @
(B) TR € a1qH
(C) TRTE @ st
(D) @91 € @3fen

39. I APXTEIIR (Vapourisation) Sieiel
(Latent heat) %5 &

(A) 100 =m=f2/ o
(B) 100° =forars
(C) 537 Fyr=fe/um
(D) 80 F=R/ g™

40. A brief history of time" %% (= frarg
(A) “=77 2IfE
(B) == =i
(C) Forse zfar
(D) ofs wfasm

41. “irsa e el iy areref o

(a) LAqFAN (1) Taanus
(b) BTFH (i1) Cersma
(c) =29z (i11) (2ar=

(d) ZrwTEm (iv) @1%%zm

(A) (@i (b)) (c)iv) (d)(i)
(B) vy (b)ii) (e (d)(i)
(C) @y (b)) (c)iii) (d)iv)
D) @ii)  (byiv)  (e)i) (d)(iii)

(1)

RBILCM)2018

= HEE LeM. j0s0 ILC.F,
@ w2 200 w2 vjen w1 o

(A) 175

(B) 440

(€300

(D) 735

35, vz

38. 2018 =" vfer ' 7 4 wwon v fann
(A) TR T T

(B) & 1%Ea

(C) AR 9T

(D) wurel v afag

39. Wi A% 1= (Vapourisation) 31 &7 =113
(Latent heat) #1:

(A) 100 ==ty T

(B) 100° &=

(C) 537 =eify oy

(D) 80 F=&fy m

40. ‘A brief history of time’ = o7&+ =1 W7
(A) 4 wrfe
(B) 91
(C) fewm &
(D) 2 witm

41. Fufefas ifs fiens .

(1) UTATEEH (i) S=EEw
(b) g (i) Tt
(¢) R (i) F=
(d) TEEER (iv) TR

(A) (i) (b)) (©)(iv) (dyany
(B) @)iv) (b)) (o)) (d)iy
(C) (@) (M) )iy (diivy

(D) (@) b)Ev) ()i (d)iii)
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42. IR @4 Defta wiige (Pioncer) 3N
ELIE-TH
(A) &€ exires e

(B) 5¢ axteumfam W e, *
-

! (=
— (O ¢ uEEf %
] o\ C A
(D) € Iea 1R

43, 2l wnreeR (rectangular) 31za¢ Tl (length)
SR (breadth) (rend | wRRa whr (perimeter) Uft

600 5513 3R, T TR crEA (area) 0
(A) 20600 25Edra o \9.°
A %
(B) 20400 a«fidre .12"‘7’“>

S
%%
9 a]
© 20406 20w N © Ly Eliu/q
© 2g00wfm 2222 (o 3

H. 920 2sfowrzm (square) ol T (side) T
ln%q&w:m.m(ma)wwﬁmr
(A) 20%

(B) uﬁvfmc:m'nbcdmnnincd)
(C) 10%
(D) 21%

' 5. At eFEmm ‘MOTHER ‘ONHURF'
T 2T 'ANSWER - Fe1a o) 2747
(A) MAVSPE
(B) NBWTRF
(C) NBXSSE
(D) NBWRRF

6. =6 cafire 81 = TR Wy 66 T PhaF
(football) 9% 32 &7 sfiras (volleyball) (7€ #iirg qaz
ﬁm@mwﬁﬁmmlwmﬁ@:ﬂmﬁﬁam?

(A) 47
45

(B) 17 L
(C) W(Can'lbedclemlincd) %-/

(D) 23 "9
5

j"’

42, W e e 7 U (Pioneer) B figa;
(A) TTE =TE
(B) ©TE FAafETa
\ (©) 1% SIeTe A
(D) T8 FA

L6 °
349 L

43 'EEZIWﬂmmclangulnr)mmg-(lenglﬁhh
R g (breadih) F T T A e i
(perimeter) 600 2T W, 18 &% (arca) F w27

(A) 20600 =rifHe

(B) 20400 =rifiex

(C) 20406 T

(D) 21600 Fifa=

. @ (square) = WelT T (side) =
10% TSR0 3 TR e (area) Fi Wiow G232
(A) 20%
(B) #1fAvig (Can't be determined)
(©) 10%
(D) 21%

45, T TE WO MOTHER® T *ONHURF o1g
YA ‘ANSWER® #11 it fE=?

(A) MAVSPE
(B) NBWTRF
(C) NBXSSE
(D) NBWRRF

46. =1 Hfony e i TR e 66 5 T
(.t'mlbniljl?-?.iﬁl‘iﬁﬂ?l(vo\lcyba‘ll}'éﬂm 165
méﬁmlmwﬁaﬁ@a@w@WW?

(A) 47
(B) 17

(C) #fuig (Can't be determined)
(D) 23
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(15)

gfS AR 748 (aggregate) 144 @A ¥R
(@i ﬂcrcnce) 36 77 e S T foe \“\4 %
(A) 90,45 ax A, - 6.%&
(B) 95,19 . LA
(C), 90. 54 o 3 o oV
(D) 89,53 = /(‘\
o

57, e Tareraa Trws e com e wRleE o
(A) 1870
(B) 1830
(C) 1770
(D) 1768

58. Bfare WEE TENE FRE S FE, TR

TR 3T TER (grandson) N R AR & 4fEEE
AR AGET AE F?

(A) =
(B) @M
© @
(D) =8l

59, AT T (W AU A

0:7::80:2
(A) 50 '-
(B) 82 7y
(C) =firsfa (Can't be determined)
(D) 48

60. T 2018-93 afzE faens e @
AR 7
" (A) @R BTl (Katerina Siniakova)
(B) AR (&EirErel (Barbora Krejcikova)
(C) Gira= T2t (Serena Williams)
(D) =mefE @fa (Angelique Kerber)

www.kolom.in

RB/ILCM)/2018
56, Z3AA TEAL W T (aggregate) 144 MT T =T
(difference) 36 T 75921 F7R % % §17
(A) 90,45
(B) 95,19
(C) 90,54
(D) 89,53

57, e o T A S e
(A) 1870
(B) 1830
(©) 1770
(D) 1768

58, Grer I Higen SET TeEe! y | SETE WRAE

T (grandson) 3T €3 AU 1| Hfgen T THEE &
T 87

(A) 3=l
(B) =feH
(C) =i

(D) &7

59. ¥ e S §9?

9:7::80:7
(A) 50
(B) 82
(C) =R (Can't be determined)
(D) 48

60. famere 2018 m wieen favrmm snfoe =
(A) wrefen fafFanT (Katerina Siniakova)
(B) =E0 FSfEHI (Barbora Krejeikova
(C) Jem fafem (Serena Williams)
(D) TifeTh FAR (Angelique Kerber




(185)

Rﬂl’l'l“g' the 'ﬂ“o"iﬂl six sentences 'l']l “ﬂ! {c }I {d}l
lﬂ.“dmmmppmpermlofﬂrmnmﬂﬂh#ul
plrlF'Ph and answer the questions given helow
them: [61-66]

(a) With all this experimentation he incurred an
expenditure of over a milhon dollars before
success smiled on him.

(b) Edison invented the long lasting electric light
bulb.

(¢) To find a fibre (o burn inside a bulb he
upcrimtﬂ'lcd with over two thousand items

(d) We thus owe the miracle of light as much 1o his
perseverance as (o his gemus.

(¢) However he did not invent it overmight.

(f) His fnends too travelled all over the world from
South America to India in search of a suitable
fbre.

61. Which of the following should be the fourth
sentence after rearrangement”?

(A) (c)
(B) (O
(C) (d)
(D) (a)

Which of the following should be the stxth
«ntence after rearrangement”

(A) (a)

(B) (e)

(C) (D

(D) (d)

63. Which ol the following should be the second

sentence after rearrangement?
(A) (d)
iB) ()
(Cy (a)

(D) el

RB/LC(M)/2018

H.' What is the synonym of the word *perseverance’
used in the passage”?
(A) stamina
(B) courage
(C) frailty
(D) diligence

65. Which of the following should be the third
sentence after rearrangement?

(A) ()
(B) (c)
(C) (a)
(D) 1d)

66. Which of the following should be the first senlence
after rearrangement?
(A) (b)
(B) (<)
(C) (N

(D) (a)

Read each sentence to find out grammatical errorsor

errors in idiomatic expressions in it. The error will be
in one part of the sentence. The number of that part

is the answer: [67-73]

67. Two persons who were on a motoreycle O/
escaped with minor injuries @/ afterabalcony of atwo-
storicd building @/ at Shyambazar street collapsed on
Tuesday evening. @

(A) 2
(B) 3
(C) 4
(D)1

www.kolom.in
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68. The Hon'ble Calcutta High Court @O/ will now
hear a petition@/ against a rule that bars lawyers @/
who does not practise in the HC.@

(A) 2
(B) 3
) 4
(D) 1

69. How often employees feel @/ a sense of
achievement @/ on the work @/ that they deliver?®

(A) 2
(B) 3
() 4
(D) 1

70. A121, ®/ she, inmany ways, @/ 1s like any gurl 3/
to her age.@

(A) 2
(B) 3
() 4
(D) 1

71. In late morning D/ several gangmen @/ had
been deployed by KMCtowork @/ondifferent stretches
of the alignment. @

(A) 2
iB) 3
iy 4
(1

(16)

72. There shall be @/ a complete bag
of synthetic colour for painting of idols k)]
require immersion.®

(A) 2
(B) 3
(C) 4~
(D) 1

73. My brother lives @/ in Jalpaiguri @/ and [ visited
him @/ every year.®
(A) 2
(B) 3
(Cr 4
(D) 1

74. What is the antonym of *“Wholesome?
(A) Unhealthy
(B) Beneficial
(C) Pure

(D) Nutntious

« Which of the following 1s correctly spelt’
(A} Embarass
(B) Embarres .
(C) Embuarrass f
(D) Embrase
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76. ‘She baffled me with her argumeng *—_
the synonym of ‘baffled"? |
(A) Seasoned
(B) Bewildered
(C) Convineed
(D) Defeated

What is

Four alternatives are given for the Idiom/Phrase
undtr“ﬂfd in the sentence, Choose the ll&m tive
which best expresses the meaning of the Idiom/
Phrase: [77-81]
77. After getting selected for the job, he has been

Mig these days.

(A) travelling only by air

(B) bemg very modest

(C) becoming very boastful

(D) weanng costly clothes

78. 1'm sure the new office order serves them nght.

(A) changes their mind
(B) gives good service to them
(C) gives what they deserve

(D) realise their mistuakes

79. He is always in debt as he m_ﬂ],gj,sluskﬁjﬂd

drakes of his money.
(A) often squanders money

(B) owns a poultry farm

(C) eives loans o other |‘*¢!‘JP|E
: i hes with
(D) often buys non-vegetenan dishes wit

RB/LC(M)/2018

80. Trying to find life on the Mars is a wild goose
chase.
(A) formidable competition
(B) fulile exercise
(Cy—useful enterprise
(D) mad race for something

81, When he took charge as the General Manager of
the Company, the situation was gt sixcs and sevens.
(A) the money was meagre
(B) the company was in debt
(C) only a few workers were there

(D) 1n utter confusion

82. Change the direct into indirect form of speech:
The boy said, *I play in the field everyday.”
(A) The boy said that he played in the field
all day.

(B) The boy said that he has been playing in the
ficld everyday.

(C) The boy said that he had been playing in the
field everyday.

(D) The boy said that he plays in the field
everyday.

83, Fill in the blank :
Why do you stare her?
(Al o
(B) aganst
(C) alter
(D) at
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me of the following is wrong?

Masculine Feminine
Gender Gender
(A) Bull Cow .
(B) Fox Vixen
- &ﬁt/) Gander Goose -
Mule

-

(18)

85. Change the ‘voice’ of the sentence:
“A 6-year child was knocked down by a passing

vehicle.” —_—

(A) A 6-year child knocked down a passig
vehicle.

(B) A passing vehicle knocked down a 6-yer
child.

(C) A vehicle knocked down a 6-year passing
child. | .) g

(D) No change .( i
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